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Pressure (mb)

SKEW-T LOG-P DIAGRAM 072946 UTC 1
Sonde ID: 003825219 23.15 N 80.77 w
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SKEW-T LOG-P DIAGRAM 074501 UTC 1
Sonde ID: 013635209 2274 N 78.78 w
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SKEW-T LOG-P DIAGRAM 075500 UTC 1 OCT 2002
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SKEW-T LOG-P DIAGRAM 081138 UTC 1 OCT 2002
Sonde ID: 003115033 2470 N 7750 w
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Pressure (mb)

SKEW-T LOG-P DIAGRAM 082840 UTC 1 OCT 2002
Sonde ID: 003248064 2690 N 7750 w
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SKEW-T LOG-P DIAGRAM 084516 UTC 1 OCT 2002
Sonde ID: 013635080 2895 N 7742 w
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SKEW-T LOG-P DIAGRAM 101030 UTC 1 OCT 2002
Sonde ID: 012525061 2405 N 7491 w
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SKEW-T LOG-P DIAGRAM 102144 UTC 1 OCT 2002
Sonde ID: 013945048 2400 N 7350 w
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SKEW-T LOG-P DIAGRAM 112524 UTC 1 OCT 2002
Sonde ID: 003825218 1950 N 7650 w
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SKEW-T LOG-P DIAGRAM 114545 UTC 1 OCT 2002
Sonde ID: 012025115 1891 N 79.15 w
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SKEW-T LOG-P DIAGRAM 120211 UTC 1 OCT 2002
Sonde ID: 013635203 17.75 N 81.00 w
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SKEW-T LOG-P DIAGRAM 130314 UTC 1
Sonde ID: 012225054 20.39 N 86.06 w
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SKEW-T LOG-P DIAGRAM 132018 UTC 1 OCT 2002
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SKEW-T LOG-P DIAGRAM 140537 UTC 1 OCT 2002
Sonde ID: 012545009 2761 N 8497 w
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